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AEN 12OI FAIIX{ POWEIT AND N{ACIIINtrIIY (

l't'a cli ct I E-t o ttt i n i I i o n

Answcr all qucslious
'firr.c: 02 lrn

0l,Aluulcylindcr4sltokccngirrchllinilcllitrclclbolcofT5unllrldslrol(clcngtllol l0cnl

develops 50 KW dl 1650 tcv/nill. AssLrnting a rrcchanisal eflicienc)' of 8570, dcternlinc

the inclic0tcd po\,er and rrcan ellcctive plessulc-

02. (i) Briclly stdte abolrl how the lrin]ary tillagc lrcLivity is bcirrg citrTic(lo(lt wilh a motrld

boald p1oLrg.h.

(ii) Ilou'c1o the tilt ancl clisc anglc infltrcrlcc thc ploughing activily?

(iii) Wirat is the diffe|cncc in thc dcsigl slltlcllrrc ol'a clisc plough ancl a clisc halow?

(iv) BIiefly explain the dcsigu and opcrillional l'calulcs ol thc splirrg loaclccl linc

cultivrL{)r (tinc tillcr).

03. (i) What ale the possibic car.rses for lloor slarting ofan enginc?

(ii) Give 4 daily ]lraintcnance aclivitics of a lanr lrilctor?

(iii) A ceutritugal purnp lailcd to dra\\'walcr h-crm a well whcn it uas opelatcd Predict

thc mosl possible reason lor this lailurc? What is your sLlggeslion to ovcrconle lhis

problcl11?

LTrnlr9 Fp,q/2jlrl?

tPIO)



{

\ *-...(i!)!,:ii0y {r1c, how vou woulcl opcfalc r,knapsack spraycr?

(iii) Give tire importance ofcalibrotion o1'knapsick sprayer.

(iv) llow woul<l you delemtinc thc spcc(l o[ rclvrnce in lhc cnliLlrrtion process of a

knapsnck spraycr?

(v) n knrpsflck spraycr lifteci with hollow conc nozzlcs is r.ec}rirctl to bc calibrated 1br an

. applicnlioll rlte ol 150 i/ht.'l'ltc spr.rycr spccd is 6.5 lirn/hr lrnLl thc nozzlc hcight is

- 50cm fiom thc grouncl. Ths slvilth rviddr of the spray is lm. Calculate the volunc
I florv lalc ftom thc uozzlc.


